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i BEV+mFOLFOX6 RN X T T5me/kg d1, ¥ 51 FS5F85mg/m’ di, I-LV200mg/m’ d1, bolus5FU400mg/m’ d1, civ5FU2400mg/m’ d1(46h)| 2iB%
PANI+mFOLFOX6 IR=Y L\ Tbmg/kg di, ¥ H1) F5F85mg/m? di, I-LV200mg/m’ d1, bolus5FU400mg/m? d1, civ6FU2400mg/m’ d1(46h) | 2:8%
mFOLFOX6 AXH1)TFS5F85mg/m? di, I-LV200mg/m? d1, bolus5FU400mg/m? d1, civBFU2400mg/m? d1(46h) ;8%
BEV+FOLFIRI RN RXTTB5meg/keg d1, €1) /F72,150mg/m? d1, I-LV200mg/m? d1, bolus5FU400mg/m? d1, civBFU2400mg/m? d1(46h) ;8%
RAM+FOLFIRI 5L )L T 8me/ke di, 11) /FH2150mg/m? d1, I-LV200mg/m? d1, bolus5FU400mg/m? d1, civ5FU2400mg/m? d1(46h) ;8%
PANI+FOLFIRI IN=Y LT Tbmg/kg d1, €1) /F7>,150mg/m? d1, I-LV200mg/m? d1, bolus5FU400mg/m? d1, civ6FU2400mg/m? d1(46h) ;8%
FOLFIRI A1) JFH2150mg/m? d1, I-LV200mg/m? d1, bolus5FU400mg/m? d1, civ6FU2400mg/m? d1(46h) ;8%
BEV+mFOLFOXIRI ;\124‘61] )7\*77‘5mg/ kg d1, 41) /FTH150mg/m’ d1, F+H1)FS5F 2 85mg/m” d1, I-LV200mg/m’ d1, civBFU2400mg/m’ 2EE
mFOLFOXIRI A1) JFH150mg/m? d1, A%H1) FS5F > 85mg/m? d1, I-LV200mg/m? d1, civBFU2400mg/m? d1(46h) ;8%
BEV+FTD/TPI RNV X2 Tbme/kg d1, 15, M) TILY S /FE S JLT0meg/m’” d1-5 d8-12 4B
BEV+CAPOX RN X T T5mg/kg d1, AFHYTS5F85mg/m? d1, AR AE 2 2000mg/m” d1-14 RPEE::
CAPOX F X4 TFS5F85mg/m’ d1, BRI BE L 2000mg/m” d1-14 3EE
SOX FEH)TS5F130mg/m’ d1, ST 80mg/m’ d1-14 3EE
SIRB RN X T T5me/kg d1, €1) /TH2150mg/m? d1, S1 80mg/m’ d1-14 3B &
BEV+RI RNV X T5me/kg d1, 41) /T2 150mg/m? d L
PANI+IRI 182V LswTbme/kg d1, A1) /TH150mg/m? di L
BEV+RIS RN X T T5me/kg d1, 15, 1) /77 150mg/m” d1, 15, S1 80mg/m’ d1-14 4AE
, X v BE::

ENCO+CET Y% T#E400mg/m’ 2[E B LAFE250me/m” d1, 8, 15, 22, T2 35 71.=7300mg/body d1-28
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ENGO+BINICET :ﬁ _12ﬂ89/77 #[E400mg/m" 2[E] B LARE250me/m" d1, 8, 15, 22, T2 35T =7 300meg/body d1-28, E=AF =T 90mg/body | ,ime
SE A= ‘ 2 — " 45@%
ENCO+CET2:B% +'Y%<, 7 T500mg/m’ d1, 15, T35 71=7300mg/body d1-28

ENCO+BINI+CET2:8 % +'Y ¥, 7 T500mg/m’ d1, 15, T 3571=7300mg/body d1-28, E = AF =T 90mg/body d1-28 4B




